SERNARRER (EE)

BRSO (B EmEs0 ([FFEt 3 EEEEBEESANSD
XSS FHMEBRCSHEENDHEE. MPEERLEY
FEN > 3> 101~1501% / 1744%

mHES WEER SHHE PRTELH

sl #%RE filit& FRigithish B B PRTERS |Fa'im
No. |ESIIRIR =R PP EE{if JRRRER prat]

4R

100121938352 b3 65.79M |95 || A RHREENES TH

2 2,3805M —h 36.2BM|BIEI -0 2B [2LDK
101 |2FH - 119.6h M |HEETRE BSEES = 153/)\R 179

@’ 19794 (BBF0544F) 8H

100122099299 hHEY> 3> 95.64M |15 || B R R X = 1R H]

BE 2,3805M —rh 2495M| 74 LA MEJLX=R 55 30 [4aLDK
102 |AFH 11,9009 82 3HM|ERE &5 193/ 55

19904F (Fhi 246) 58

100122341291 hEY>Tay 61.01M 185 || BHERTTHRX (VR EEF

5E 2,48055 M —{F 40.7A8|SA AR>S a>REHE6 20 3LDK
103 | B 15,200 344K B|#ER +HBmhiE = 12D

19854F (BBF160E) 8H

100122268959 TS 42.14M |85 || BEHRXTIL 1 TH

FE 2,48055 1 - 5895 M S 3DK
104 |- 9,680 194.6HA|ERR BE 5 209

19864F (BBAI614E) 118

100120258973 hEY>Ia Y 34.50m |5 || B RHRXEE 1 TH

5B 2,4805 M bl =i} 7198|277 —A NS XE/E 20 2K
105 |Z2FEH 10,0003 237.7hH|EER BE it 359

20054F (ERL174E) 88

100121675049 hHEY> 3> 71.86m [#5R) || 2 EHHRX L3 TH

kS 2,48055M ; 34655/ i;#>7«7>~>3 FRUD=T2 g 3LDK
106 I 7,000 114.1ThH|#EER 18E B 453/)\X 85>

& 19864 (BBFl614E) 7AH

100121578702 PhEY> Iy 68.26M |15 || Bt RMRXEAM 6 TH

5T 2,480 8 - 3647 E)LERH—F > R—AX 15 3LDK
107 |2FAR 10,300 1202F A |ER 1BE 5 209

19974 (5% 9%) 38

100122095139 hEY>Tay 71.76m |85 || BRIV VR EEF

5E 2,580 H g 36.0FM|EEE/(—D - IR—AX AR 3LDK
108 |EFIAD 10,0009 1189 M |HEHHR FEM T 149

=] 19854F (BBAI604E) 8A

100121893998 PHEY> 23> 61.60M |#%) || B RHHER AL 1 TH

=58 2,58073M #T 41.98A|/\« S—Uf&RA 20 3LDK
109 |AFH 6,500M 1385HM|EERE BE &= 11D

19824F (BBFN574E) 68

100122234013 hEY>Iay 82.75m f5) || B AR X = 4R HE]

brES 2,68075H - 3247 ™|U—~X bR BHR 15 3LDK
110 |- 8,500M 107. 1B |fERE Il 5 165

=IE 19994 (ERL114E) 28

100121076663 Y>> 3> 53.73m |fRR) || B ETTRE VOV EEF

5E 2,699 1 - 503AR|SA A>T a>RERES S 2LDK
111 |- 13,970 166.THA|ERE +HTS s 129

[19844 (BBAIS9%) 118




meEs WEFER SHEE PRTELHH

B3I it P& sk it B4 PRTERS [
No. |ESI4RIR =Ry PPES (i SERRER 32

FER

100122240888 hEY>ay 64.95m 185 || BRI EAM 6 TH

5= 2,7505 M —fE 2478|R5> L —EILZREIMIL o 3LDK
112 |2 5,760 140.073 M |#EELR /I, &= 23D

19964 (SEA% 84F) 78

100122317913 hHY> T3> 61.87m |#825) || B R R X 0 \JAET

STy -
s5E 2,7805M - ssopm| 7 T/ AERE IWVIA R 2LDK
o &f

n3r 12,000 148.6 KB |HEETR JFEAS B 153/ X 109

19944 (SER% 64F) 18

100122033729 hHEY> 3> 66.87M |15 || B RTHRX 1+ B ii5E]

FE 2,7905 8 —{F 41.8AA|tEMBR—LX 305 3LDK
114 |- 12,230 138.0RA|ERE +HTS 5 99

19974 (ERL 9%) 68

100122174050 = 52.92m| AR/ || EERTHRXPIL 3 TH

5T 2,89075M —{E 54.7BRA|A =07 > 3>l 20 3DK
115 |FH 14,4501 180.6 HA|REEHR  HIL = 11D

=] 19874E (BBAI624E) 38

100121854217 hHEY> 3> 68.04m |85 || A EMRXEAM S TH

FE 2,890 —{F 42. 55| BRA 7 v ) LER 305 3LDK
116 |- 9,158 140.5 A |RERIR /M, 5 139D

=] 19804 (BBANSSE) 98

100121984412 hheY> 23> 115.06m | #53) || RIS ErTHRR X FTA T

5T 2,950 8 - 25.7AF|ER2 RIDIL7IILAERE+HTS 58 4L DK
117 |2FEF 29,500/ 84.8HH|EEE +HMEG = 13D

] 19904E (5% 24E) 28

100121824643 ST 66.88m |15 || 2 AR EAM 6 TH

5 2,9805 M —{F 4465 8 3LDK
118 |AFH 5,940 1473 B |EEE /WL E= 17D

=] 19964F (PR} 84E) 85

100113561250 > 3> 70.54m [#5) | | B RHREXEAM 6 TH

5T 2,9805 M —1F 423A8|\Ev I T7 ) =0 E)LZIM, 20 3LDK
119 | 13,070 139.7hM|EERE 1BE 19D

@ 20005 (ERk12%F) 2R

100122004976 ST 65.52m |45 || 2 EMRX EEZR 7 TH

5 2,9905 4 —rh 45.75H 305 2SLDK
120 |2FAR 10,700 150.9H 1 |HE&TE KEMA &5 859

=] 19874F (BBAI624E) 118

100122100643 RT3y 71.81nmi [#5) || B RHEX LIl 1 TH

AT 3,080%5 - 42.955F| B (LR 5 — el 5B 3LDK

s
121 11,300/ 14,8 L w169

20056 (PR174) 98

100119494085 hHEY>Ta Yy 71.81nmi [ || B RHHREX L1 TH

HA-TF 3,08075M — 42,975 B8 (L 25 — el sz 3LDK

s
122 I 11,3009 141.8AA|#EJU— il 5 169

20056 (ER174) 98
123 (100122318775 hEY>Iay 68.06n |15 || B AR EAM 6 TH

5% 3,180 H - 46.8FM| S A > X)L AMEREE 6 3LDK

- 15,200/ 154.5h M| RR 1BE = 199




meEs WEFER SHEE PRTELHH
B3I it P& sk it B4 PRTERS [
No. |ESI4RiR =Ry PPES (i SERRER pedt: |
EZ
(2] A 19964 (5% 84F) 28
100122075867 hHEY> s3> 73.75m |5 || EEHHREX LI 1 TH
Bt 3,180 M T 432 | F A R T — DT ViERFIL 1B 4L DK
124 | RS 15,560/ 14267 |RERE Bl &5 149
=] 20024E (FR§144E) 28
100121825758 hEY>S 3> 80.58m |5 || B RMHRXAIL 1 TH
5T 3,1805 M - 39.5AA| LR NI A ILLBEESEE AR 3LDK
125 |2FEH 11,700 1305 A|EER BE &= 13D
] 20024E (FERL144E) 18
100122002824 hHEY> s3> 55.00M |5 || BERTHRX B Hi5E
FE 3,1905 M —rh 580/M|70O—-L >/ X+BfiE S 3LDK
126 |- 7,160/ 191.8hA|ERR +HTS 5 49
19954 (PRY 74E) 28
100122252916 Y>> ay 66.00m |[#H53)|| B2 RHEXR AL 1 TH
FE 3,19855 M #T 48.5RA|)\1 S —UfERAL 30 3LDK
127 |- 6,900 1602 M|EEIR 1BE s 11D
19824 (BBF0574F) 68
100122321248 hHEY> 3> 53.82m | %) || BSRHZRX A HiSE
—h% 3,2005H - 59.555F ’Z‘:x ARTSTTEDBEEC 1 | o 1LDK
=
128 I 17,390 196.6RM|BRE +amE #F 19
19934 (A 54) 78
100118626825 B> a Yy 83.60Mm |15 || Bt AR X EAM 6 TH
—fi% 3,280 M —F 39.3FM|R5> L —EILZHERIMI o 4L DK
129 |- 7,420/ 129.8 M| RERAR /M, T 239D
19964F (5% 84) 78
100116508505 REY>Iay 62.43m |15 || BSRHRE AL 1 TH
%{f A—F—FxT 3.28075M i 52655 7{7f‘:27>~>5| tEEREY - 3 3LDK
o IV —F47
130 1 xpgen - 17375 MRS BE w5 129
20164 (Fri284E) 68
100121310184 hHI> I 87.60M |15 || B AR X 1 H i H]
—h% 3,28055 M —{F 37.5AA|tEMER—LX 10 3LDK
131 |- 16,0309 123.8hH|#EfR +HAmiE £ 959
19974 (PR} 9%) 68
100119425797 >3 83.60m |15 || A AR EAM 6 TH
— % 3,280 M —F 39.35H AZZL= t{lfx*ﬁﬁd\m 70X o 4L DK
132 RO - Uy
- 7,420 129.8 KM |#EAR /ML = 23D
19965 (Fpk 8%F) 7H
100113983894 S 87.60M |15 || B RMFRX 1 B i H]
— % 3,280 H —fE 375FE|+AMHBR—AX 15 3SLDK
133 |- 16,030 123.8hA|#RE +HTS EE 109
19974F (P55 94E) 68
100121409898 REY>Iay 83.60m 185 || BRI X EAM 6 TH
—h% 3,28055 M - 39.3H5M o 4L DK
134 |- 7,420 129.8 M |#&EAR /ML &= 21D
=] 19964E (55 84) 78
135 (100120980493 P> a> 100.30m |#HR) || B ET&EX LU 1 TH




meEs WEFER SHEE PRTELHH

B3I it P& sk it B4 PRTERS [
No. |ESI4RiR =Ry PPES (i SERRER pedt: |

FER

58 3,330 T 333AA|IS ST LAT4 7> MER 15 4LDK

NS 17,320 109.8 K AR Bl ® 17D

20024F (FEpL144E) 28

100121515835 hEY>Ia Yy 65.36m |95 || B RHREX L1 TH

5B 3,36055 M T 51.5AM|FA R T —I AT WHEERSDIL 20 3LDK
136 |FEH 13,790 170.0K M |#ERR 1l & 14D

@ 20025 (ERk14%F) 2R

100121833984 ST 68.46M |5 | B RHHTRX LI 1 TH

5EE 3,3805H - 4941R | FA A7 —O X WiEET Il 3 3LDK
137 |- 14,450 163.3RA|EARIU— Il 5 149

20024 (ER14E) 28

100119724937 hEY>Ia Yy 81.60n 195 | | R4 R R X 251 LIE]

— - — Syer=
5B 3,4805M mEE 1275m|2 2T TAVATATE MEER |y 3LDK
EJFYNE|

138 Teaamn 11,180/ 141,05 F|RE Pl w5 149

20014 (FRk134E) 38

100121651209 hEY>ITay 100.30m |45 || BERRE L1 TH

B 3,4905 M S MEAAITSIFTALATA T NMEE |9 3SLDK
139 |2AFH 17,3201 115 1AM |ERE Il 5 159

20024 (ERRI4E) 28

100118551564 ST 100.30m |5/ || BETHRX LU 1 TH

5T 3,499 M T% 349\ IS T4 LT 7> MEE 3LDK
140 |AFH 17,3204 11547 |BRE Il &= 18D

20024F (FER14%) 28

100122285623 hEY>Iay 80.95m |5 || B Rk il 1 TH

5EE 3,590 H —F 44 4R P|(EE=—1—/\rvdl 2 4L DK
141 |- 8,400M 146,75 |RERE Il 5 39

19844F (BBAISOE) SH

100120930021 HEY>>a> 43.52m 185 || BRI 4 TH

5T 3,68055 8 b=} 84.65H Tl?fZT—/EF'IJJ Sh% 1LDK
142 |AFH 10,1009 279.6 KM EER il & 459

20224 (ST 44F) 38

100121419254 hHY> I I> 70.45nm |15 || B EmREXEEZEH 1 TH

5% 3,69075H g 524B|EERA—FT>/\DX 2 3LDK
143 |- 17,1909 173.2FhH|fasR REH FE= 11D

19934 (R 54) 58

100121411165 Y>> 3> 70.20nM |#5S JII,Lmiﬁ,,EsFﬁﬁI:Eu.l 1TH

58 3,7805 M —fE 539 M| IR EEEBEH—FT>X o 3LDK
144 | 2B 8,800 178 1THB|ERE BE &5 89

19994 (FRk114E) 12H

100122043469 b3 62.85m |15 || B RmHEXEIL 1 TH

5% 3,790 H - 6047 |O0—VIL> 7 1 §8/E 6 TEE 6B 2LDK
145 |- 7,610 1994 M|ERRE BE T 65

=] 19986 (FAL104)

100120590481 Y>> 3> 60.51M |#9%) || B Rk X KIZEE]

5T 3,880 M - 642 M| ORI IVEER 5P 3LDK
146 |AFH 13,7201 212.0hH |HE# MR FEH &= 13D

20165 (FERk28%) 2H




meEs mEFER SHmEE PRTEHH

BN5IHR0E filit it s Bus PRTERE |raER
No. |ESIIRIR EnYg PPES (i SRRRER 32l

R

100121020621 PhEY> S ar 82.75m ||| B ATRXEZH 1 TH

HE 3,805 —th 48.15M ij\/:/_j_aﬁlﬁwﬁtlyj”_ 3M 4LDK
147 g 10,300/ 159.075 )| BEED IR A w®F 15

20064 (FRi184) 28

100122317177 SIS 70.72nm |95 || B RHHEXEWL 1 TH

5B 3,9805H —1E 56.3AM| AR EEREBEH -7 > X 115 3LDK
148 | 8,800 186.1THA|EER B=E it 859

@ 19994 (FRk114E) 12H

100120999420 hHEY> 3> 70.45m |85 || B ETHRXEE 4 TH

5= 3,980 M —F 56.5PM|J 1 —IL7 S AEERE AR 3LDK
149 |AFH 8,040 186.8KhH|#@EiR 1B/E = 109

=] 20185 (FHL30E) 18

100121525706 ST 66.91m |15 || B EMHRX + B iz

5T 3,980 H —th 59.5BM|05> RV R+ H™TS AR 2LDK
150 |2FR 10,400 196.7hA|#EE +HTS 5 99

=E 20094 (FR214) 58

XAEH AR FASD  BEEHICKDBARRAAHD —HEL  BEBESTIHBEMELH
GEEDHBIEHRNEREME. SALUIDIZEEE -] RRERBDET)



